Oo o = N
Ek=E

SgUGI T UM

faiep: WR:

(3x* — 5x — 5)(9x + 6) (8 — 8x)(6x +4)

(2x + 4)(3x* + 5x + 5) (5+ 72 (x+3)

(1- 52 (6x—7) (9x+ 9)(6x +9)

(6— 8 (4x +2) (3 + 6x)(4x — 3)

2+ x)(5x— 1) 9+ 8 (2x + 3)

www.snowmath.com



https://www.snowmath.com

BEE3A

AMH:

SgUGI T UM

faiep: WR:

(3x% — 5x — 5)(9x + 6) (8 — 8x)(6x + 4)
27> — 27x% — 75x — 30 —48x% + 16x+ 32

(2x + 4)(3x* + 5x + 5) 5+ 7P (x +3)
6x° + 22x% + 30x + 20 7 + 2157 + 5x+ 15

(1— 52 (6x—7) (9x + 9)(6x + 9)
—300° + 35%° + 6x— 7 54x% + 135x + 81

(6— & (4x +2) (3 + 6x)(4x — 3)
—32%° — 165 +24x + 12 24x* — 6x—9

2+ x)(5x— 1) 9+ &2 (2x + 3)
5x2+9x—2 16x° + 24x% + 18x + 27
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